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gkbZ Ldwy lfVZfQdsV ijh{kkgkbZ Ldwy lfVZfQdsV ijh{kkgkbZ Ldwy lfVZfQdsV ijh{kkgkbZ Ldwy lfVZfQdsV ijh{kkgkbZ Ldwy lfVZfQdsV ijh{kk

High School Certificate Examination
lsEiy&iz'u i=lsEiy&iz'u i=lsEiy&iz'u i=lsEiy&iz'u i=lsEiy&iz'u i=

SAMPLE PAPER
fo"k; %&fo"k; %&fo"k; %&fo"k; %&fo"k; %& (Subject) - foKkufoKkufoKkufoKkufoKku le; 3 ?k.Vk le; 3 ?k.Vk le; 3 ?k.Vk le; 3 ?k.Vk le; 3 ?k.Vk (Time- 3 Hrs)
d{kk %&d{kk %&d{kk %&d{kk %&d{kk %& (Class) - nlohanlohanlohanlohanloha iw.kkZad 75 iw.kkZad 75 iw.kkZad 75 iw.kkZad 75 iw.kkZad 75 (M.M.)

Set - A

(Instruction)     & ¼funsZ’k½& ¼funsZ’k½& ¼funsZ’k½& ¼funsZ’k½& ¼funsZ’k½

1- lHkh iz'u gy djuk vfuok;Z gS A

Attempt all the Question
2- iz'u Øekad 01 esa 10 vad fu/kkZfjr gS A nks mi[k.M gS A [k.M ^^v** esa 05

cgqfodYih; iz'u rFkk [k.M ^^c** esa 05 fjDr LFkkuksa dh iwfrZ vFkok mfpr

laca/k tksfM, A izR;sd iz'u ds fy, 1 vad vkcafVr gS A

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

3- iz'u Øekad 02 ls iz'u Øekad 06 rd vfr y?kqmRrjh; iz'u gS A izR;sd iz'u

ij 02 vad vkcafVr gS A mRrj dh vf/kdre 'kCn lhek 30 'kCn A

Q. No. 2 to 06 are very short answer type question & it carries 02 marks
each. Word limit is maximum 30.

4- iz'u Øekad 07 ls iz'u Øekad 10 rd y?kqmRrjh; iz'u gS A izR;sd iz'u ij 03

vad vkcafVr gS A mRrj dh vf/kdre 'kCn lhek 50 'kCn A

Q. No. 07 to 10 are short answer type question & it carries 03 marks
each. Word limit is maximum 50.

5- iz'u Øekad 11 ls iz'u Øekad 14 rd y?kqmRrjh; iz'u gS A izR;sd iz'u esa

vkarfjd fodYi gS vkSj izR;sd iz'u ij 04 vad vkcafVr gS A mRrj dh vf/kdre

'kCn lhek 75 'kCn A

Q. No. 11 to 14 are short answer type question & it carries 04 marks
each. Each question has internal choice. Word limit is maximum 75.



166
virendra

6- iz'u Øekad 15 ls iz'u Øekad 17 rd nh?kZmRrjh; iz'u gS A izR;sd iz'u esa

vkarfjd fodYi gS vkSj izR;sd iz'u ij 05 vad vkcafVr gS A mRrj dh vf/kdre

'kCn lhek 100 'kCn A

Q. No. 15 to 17 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.

7- iz'u Øekad 18 ls iz'u Øekad 19 rd nh?kZmRrjh; iz'u gS A izR;sd iz'u esa

vkarfjd fodYi gS vkSj izR;sd iz'u ij 06 vad vkcafVr gS A mRrj dh vf/kdre

'kCn lhek 150 'kCn A

Q. No. 18 to 19 are long answer type question & it carries 06 marks
each. Each question has internal choice. Word limit is maximum 150.
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Ikz'Uk&1 ¼v½ Lkgh fOkdYIk PkqUkdj fYkf[k,& IkzR¸ksd ds fYk, 1 vad 1×5 = 5

(i) Xkgjs UkhYks jax dk dk¡Pk CkUkkUks ds fYk, fdLk ¸kkSfXkd dk mIk¸kksXk fd¸kk TkkRkk gSA

(a) D¸kwIkzLk vkWDlkbM (b) EkSaXkUkhTk  vkWDLkkbM

(c) dSMfEk¸kEk LkYQkbM (d) dksCkkYV vkWDLkkbM

(ii) 1000
N

HCl fOkYk¸kUk dk pH EkkUk gksRkk gS&

(a) 1 (b) 2

(c)  3 (d) 4

(iii) ,d RkROk dk bYksDVªkfUkd fOkU¸kkLk 2]8]1 gSA ¸kg RkROk gksXkk &

(a) {kkjh¸k /kkRkq (b)  {kkjh¸k Ek`nk /kkRkq

(c) p&CYkkd RkROk (d) d&CYkkd RkROk

(iv) js[kh¸k vkOk/kZUk dgYkkRkk gS&

(a)   OkLRkq dh YkaCkkbZ (b) IkzfRkfCkECk dh YkaCkkbZ

IkzfRkfCkECk dh YkaCkkbZ   OkLRkq dh YkaCkkbZ

(c) ,d IkzfRkfCkECk dh YkaCkkbZ (d) mIkjksDRk Eksa Lks dksbZ UkghaA

nwLkjs IkzfRkfCkaCk dh YkaCkkbZ

(v) LkkSj ÅTkkZ fUkEUk fYkf[kRk Eksa Lks fdLkds dkj.k gS&

(a) LkaYk¸kUk vfHkfØ¸kk (a) fOk[kaMUk vfHkfØ¸kk

(c) (a) ,Oka (b) nksUkksa vfHkfØ¸kk (d) mIkjksDRk Eksa Lks dksbZ UkghaA
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Que1 (A) Choose the correct option and answer. Each question carries 1 marks.

(i) Which compound is used for providing dark blue colour to glass-

(a) Cuprous oxide (b) Manganes oxide

(c) Cadmium sulphide (d) Cobalt oxide

(ii) The pH value of 1000
N

HCl solution is -

(a) 1 (b) 2

(c)  3 (d) 4

(iii) The electronic configuration of an element is 2, 8, 1. The element is -

(a) alkaline metal (b)  alkaline earth metal

(c) p-block element (d) d-block element

(iv) Linear magnification is

(a)  
Length of object
Length of image (b)

Length of image
Length of object

(c)
Length of one image

Length of other image (d) None of the above

(v) The source of energy in the sun is due to -

(a) fusion reaction (a) fission reaction

(c) (a) and (b) both (d) None of the above
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¼c½ fjDRk LFkkUkksa dh IkwfRkZ dhfTk, &IkzR¸ksd ds fYk, & 1 vad

(i) fdLkh PkkYkd Rkkj Eksa fOk|qRk /kkjk IkzOkkfgRk djUks Ikj mLkds UkTknhd &&&&

mRIkUUk gksRkk gSA

(ii) ,d PkqECkd ds RkhUk VqdMs djUks Ikj IkzR¸ksd VqdMs Eksa &&&&&mIkfLFkRk jgRks gSaA

(iii) EkkUkOk Eksa mIkfLFkRk ¸kÑRk LkCkLks CkMh IkkPkd XkzafFk gS fTkLkdk OkTkUk &&&& gksRkk

gSA

(iv) jkf«k Eksa isM+ksa }kjk 'OkLkUk Eksa NksM+h XkbZ &&&&dk mIk¸kksXk Ikzdk'k Lka'Yks"k.k Eksa Ukgha

gks IkkRkk gSA

(v) Oks IknkFkZ ¸kk dkjd fTkUkds dkj.k Ikznw"k.k gksRkk gS&&&&&dgYkkRks gSaA

(B) Fill in the blanks - (Each one carries one marks)

(i) When current passes through a conducting wire ............. is produced
near it.

(ii) When a magnet is broken into three pieces, every piece contains ............

(iii) Liver, the largest digestive gland present in a human being weighs .......

(iv) At night the ................ released by trees during respiration is not utilised
in photosynthesis.

(v) The materials or factors which cause pollution are called ................. .

Ikz'Uk&2 HkTkZUk dks IkfjHkkf"kRk dhfTk, A 2 vad

Define Roasing.

Ikz'Uk&3 IkjkOkRkZUk ds nks fUk¸kEk fYkf[k,A 1$1 vad

Write the two laws of reflection.
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Ikz'Uk&4 Ckfg"dj.k dks IkfjHkkf"kRk dhfTk,A 2 vad

Define egestion.

Ikz'Uk&5 10Ω  ds 5 IkzfRkjks/kksa dks LkkEkkURkj ØEk Eksaa TkksMUks Ikj mRIkUUk Ikfj.kkEkh IkzfRkjks/k

dh Xk.kUkk dhfTk, A           Lkw«k& 1 vad] Xk.kUkk & 1 vad

If five resistances each of resistance 10 ohm in series, find out the result-
ant resistance.

Ikz'Uk&6 ROkPkh¸k 'OkLkUk dks LIk"V dhfTk, A 2vad

Explain cutaneous respiration.

Ikz'Uk&7 /OkUkh Ikznw"k.k ds RkhUk dkj.k fYkf[k,A ¼1$1$1½

Give three causes of sound pollution.

Ikz'Uk&8 D¸kk gksRkk gS TkCkfd & ¼dsOkYk jkLkk¸kfUkd LkEkhdj.k fYkf[k, ½A ¼1$1$1½

(i) Na /kkRkq BaMs TkYk Lks fØ¸kk djRkh gS A

(ii) CaCO3 dks XkEkZ fd¸kk TkkRkk gSA

(iii) N2 vkSj H2  dh vfHkfØ¸kk gksRkh gSA

What happens when - (Give only chemical equation)

(i) Na metal reacts with cold water.

(ii) CaCO3 is heated.

(iii) N2 and H2 react with each other.

Ikz'Uk&9 v¸kLd vkSj [kfUkTk Eksa RkhUk vaRkj fYkf[k, A ¼1$1$1½

Write three differences between ore and minerals.
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Ikz'Uk&10 LkksYkj LksYk IkSUkYk dk dsOkYk UkkEkkafdRk fPk«k CkUkkb¸ksA ¼1½ $ 1½½

Draw a labelled diagram of solar cell panel.

Ikz'Uk&11 vfHkfØ¸kk nj dks IkzHkkfOkRk djUks OkkYks Pkkj dkjdksa dks o.kZu dhft, A  ¼1$1$1$1½

Give four factors that affect the rate of reaction.

¼vFkOkk½

jkLkk¸kfUkd LkkE¸k ds Pkkj IkzEkq[k Yk{k.k fYkf[k, A ¼1$1$1$1½

Give four main characteristics of chemcial equilibrium.

Ikz'Uk&12 ,fLkfVd vEYk fUkEkkZ.k dh 'kh?kz fLkjdk fOkf/k dk fUkEUkkafdRk 'kh"kZdksa Eksa Ok.kZUk

dhfTk,A

(i) vfHkfØ¸kk dk jkLkk¸kfUkd LkEkhdj.kA  1 vad

(ii) Ikz¸kksXk fOkf/k Lka{ksIk Eksa A 2 vad

(iii) ,fLkfVd vEYk dh  NH4OH Lks vfHkfØ¸kk dk dsOkYk LkEkhdj.kA 1 vad

Describe the quick Vinegar process of manufacture of acetic acid on the
headings given below.

(i) Chemical equation of the reaction.

(ii) Laboratory method in brief.

(iii) Chemical equation for the reaction of acetic acid with NH4OH.

¼vFkOkk½

,fFkYk ,YdksgkWYk fUkEkkZ.k dh fd.oUk fOkf/k dk Ok.kZUk fUkEUkkafdRk 'kh"kZdksa ds

vaRkXkZRk dhfTk,A
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(i) vfHkfØ¸kk dk jkLkk¸kfUkd LkEkhdj.k & 1 vad

(ii) fOkf/k dk Lka{ksIk Eksa Ok.kZUk &  2 vad

(iii) ,fFkYk ,YdksgkWYk dh Na /kkRkq Lks vfHkfØ¸kk dk LkEkhdj.k A 1 vad

Describe the fermentation method for the manufcture of ethyl alcohol
under the following headings.

(i) Chemical equation of the reaction.

(ii) Brief description of the process.

(iii) Chemical equation for the reaction of ethyl alcohol and Na Metal.

Ikz'Uk&13 PkqECkdROk ds fYk, dwYkkWEk dk O¸kwRØEk OkXkZ dk fUk¸kEk fYk[kdj ,dkad /kzqOk dks

LkEkÖkkb¸ks A  ¼3$1½

Write the Coulomb's inverse square law of magnetism and explain unit
pole.

¼vFkOkk½

fLk) dhfTk, %& tanV H θ= ¼2$2½

2 2 2I H V= +

 Tkgk¡ θ  ¾ UkEk.k dks.k

I ¾ Ik`FOkh dh LkaIkw.kZ RkhOkzRkk

H ¾ Ik`FOkh dh {kSfRkTk ?kVd

V ¾ m/OkkZ/kj ?kVd gSA

Prove that :- tanV H θ= ¼2$2½



173
virendra

2 2 2I H V= +

Where θ  = Angle of declination.

I  =  Total intensity of earth's magnetic field

H  = Horizontal component of earth's magnetic field

V  = Vertical component.

Ikz'Uk&14 :f/kj ds fdUgha Pkkj dk¸kksZ dk Ok.kZUk dhfTk,A ¼1$1$1$1½

Describe any four functions of blood.

¼vFkOkk½

YkLkhdk ds fdUgha Pkkj dk¸kksZ dk Ok.kZUk dhfTk,A ¼1$1$1$1½

Describe any four functions of lymph.

Ikz'Uk&15 CkgqYkd fdLks dgRks gS\ IkzkÑfRkd ,Oka Lka'Yksf"kRk CkgqYkd ds nks&nks mnkgj.k nsdj

LkEkÖkkb¸ksA      ¼1$1$1$1$1½

What are polymers? Explain giving two examples for each natural and
synthetic polymers.

¼vFkOkk½

P.V.C. dk Ikwjk UkkEk vkSj Lkw«k fYk[kdj bLkds RkhUk Xkq.k fYkf[k,A

Write the full name and formula of P.V.C. and give three properties of it.

Ikz'Uk&16 vkWDLkh'OkLkUk ,Oka vUkkWDLkh 'OkLkUk Eksa IkkaPk vaRkj fYkf[k,A ¼1$1$1$1$1½

Give five differences between aerobic and anaerobic respiration.

¼vFkOkk½
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'OkkLkksPNOkkLk ,Oka 'OkLkUk Eksa IkkaPk vaRkj fYkf[k,A ¼1$1$1$1$1½

Give five differences between breathing and respiration.

Ikz'Uk&17 Ikz¸kksXk 'kkYkk Eksa vOkRkYk nIkZ.k dh Qksdl nwjh KkRk djUksa dh ,oa fIkUk fOkf/k dh

Ikz¸kksXk dk Ok.kZUk fUkEUkkafdRk 'kh"kZdksa ds vaRkXkZRk dhfTk,A

(i) fLk)kaRk  (ii) UkkEkkafdRk js[kkfPk«k  (iii)  vOkYkksdUk Lkkfj.khA ¼1$2$2½

Describe the single pin method to find out the focal length of a concave
mirror on the following headings -

(i) Theory  (ii) Labelled diagram   (iii) Observation table.

¼vFkOkk½

Ikz¸kksXk'kkYkk Eksa dkaPk ds vk¸kRkkdkj XkqVdsa dk vIkOkRkZUkkad KkRk djUks ds Ikz¸kksXk dk

Ok.kZUk fUkEUkkafdRk 'kh"kZdksa ds vURkZXkRk dhfTk,A     ¼1$2$2½

(i)  fLk)kaRk (ii) UkkEkkafdRk js[kkfPk«k (iii) vOkYkksdUk Lkkfj.kh

Explain the determination of refractive index of a glass slab in the labora-
tory on the following prints -

(i) Principle  (ii) Labelled diagram   (iii) Observation table.

Ikz'Uk&18 fOk|qRk IkfjIkFk Eksa mIk¸kksXk gksUks OkkYks fUkEUkkafdRk LkadsRkksa ds UkkEk fYkf[k,A &

Write the names of the following symbols used in an electric circuit.

IkzR¸ksd Ikj 1 vad

(i) + – (ii) + –

(iii) ( ) (iv)
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(v) (vi)

¼vFkOkk½

fOk|qRk IkfjIkFk Eksa mIk¸kksXk gksUks OkkYks fUkEUkkafdRk LkadsRkksa ds UkkEk fYkf[k¸ksA

Write the names of the following symbols used in an electric circuit.

IkzR¸ksd Ikj 1 vad

(i) ( ) (ii) G

(iii) + –A (iv)

(v) (vi)

Ikz'Uk&19 EkkUkOk Eksa mRLkTkZUk Rka«k dk LkfPk«k Ok.kZUk dhfTk, ¼2$2$2½

Explain the excretory system of a man with a labelled diagram.

¼vFkOkk½

EkkUkOk Eksa Ekw«k fUkEkkZ.k dh IkzfØ¸kk dk LkfPk«k Ok.kZUk dhfTk,A

Explain the process formation of urine with a labelled diagram.

&&00&&


